Triangle Congruence 2 (KEY)
Geometry
Name the corresponding parts for each pair of congruent triangles.

1) AABC = AHIJ 2) AYES = ANOP 3) ACAT = AGOP 4) ASUV = AXYZ
/A= H, AB=HI, /C=/G, CA=GO,
ZB=/I, BC=1I], iz SO, AT.=0P
LC=4] AC=HJ /T=/P CT=GP

Name the corresponding partsin each pair of triangles, and make a congruence statement..
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Given some corresponding parts in two congruent triangles, make a congruence statement about the triangles.

9) RS=JEK,RT=JL,/T=/L, ST=KL
ARST =AJKL

10) /A =/N,/C=/P, BC =QF, AC = NP
ABCA=AOPN

11) AFDR =AWSC. Which of the following is also atrue statement?
A) FDz=3C B) AFDR =AWCS C) ADRF =ASCW D) /R=/W

12) ARAL =ADXV. Which of thefollowing is also atrue statement?

A) LA=LV B) ALz XF  C) ALRA =

ADXV D) ARAL =AXVD



What information is shown in each drawing?
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